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Please check whether you have got the right question paper.

N. B. 1) All the questions arc compulsory.
2) Figures to the right indicate full marks.

Q. 1. Attempt any two of the following: 20
A) Discuss the various problems of Public Sector in India.
B) Slate the Role of agriculture in Industrial development.
C) Explain the motives for Magar and Acquisitions of firms.

Q. 2. Attempt any two of the following: 20
A) Discuss the factors affecting of Industrial Location.
B) Analyze the weber’s theory of Industrial Location.
C) Write a note on decentralization of industry and problem of regional imbalance.

Q. 3. Attempt any two of the following: 20
A) Explain the concept of Industrial Productivity. How is it measured?
B) Explain the different types of effects of industrial sickness.
C) Explain the impacts of Rationalization on Indian Industry.

Q. 4. Attempt any two of the following: 20
A) Discuss the new industrial policy-1991.
B) Explain the recent trends in India’s Industrial Growth.
C) Explain the merits and demerits of MNCs.
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